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20,0003 «1& 122 240
-dgesd 80,000 x4H x12& 3,840
WESR= ] 130,000& 29 « 123 45,240
Hu S 2 X 44,520
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02 JIEtAE = 112,865 96,505 16,360
O&=22 103,075
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-0t= 24,521,000 =2& 49,042
SNEIEEEERTE-EEY
;31233 *10AI 2tx 123 2,993
Ot=E=e 3,240
- B Xt 40,0002 «3& « 122 1,440
- IS 20,0003 «3& *12& 720
-Z2UE 30,0003 «3& *12& 1,080
OXZ 22| 4,380
-Us 155,000 x1H »12& 1,860
-0t=2 105,000 »2H 12 2,520
ol sl 50,0003 «3& »12& 1,800
Od A=Al 130,000 »3E 122 4,680
OH 2244l 6,952,660 *1/30x11& 2,550
DEANES R L D4y
1,946,000 42 *96/100%1.31 9,790
03 RIASZ=ZNE =+ 168,523 165,991 2,532
O2MEd 2 & 16,815
oJlzEs 38,8503 x 122492 9,674
OF={C = 9,674,000 *1/12%400% 3,225
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OANZ2tel =g
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[18~9= (J1s58-92) 105,000& x5 122 6,300
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